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Candidates must write the Code on the
title page of the answer-book.
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o TYH-UF H TR 1Y h1 AR U T I TFeR Sl B IT-YIEdhl o J@-I8 W fod |
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e U YH-UF Wl Ued o fIu 15 fme o1 aww fean o B | yod-uw o foawor gafs #
10.15 & TR SIT@T | 10.15 1 § 10.30 S G B had TeH-99 I T 3R
39 1Ay & A I ITR-YETRT T IS I TE AT |

e Please check that this question paper contains 10 printed pages and 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 16 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the

answer-book during this period.
HISTORY

FeiRa 77 : 3 gve S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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Q=T 3397 :

G) @ Il & T T | PO Yl H ak® f@Eeq 7Y 0 F | Y9 I & 3F
3G Grgd 3l [T U E |

(i) 97 &I 1 883 T 3Hl it § 9% ¥97 HT I 30 Yegl & 3 &7 &7
FIET |

(iii) 97 &I 4 9 R IH 7 8, Jo9% J97 &1 I/ 100 I55] & 37 787 &7
FIET |

(iv) T97 G&I7 10 G 12 3073 3] dIct &, Jod% I3 HT I/ 350 Ieq] & e 787 i1
FIET |

() ¥ GEIT 13 & 15 Gid 3ERT 597 & |

(vi) ¥ G&IT 16 Tl Gra 397 8, foad el &1 ge=r 91 qgeqy ey qel

BT T GIT FMAT & | TG Hl F-GIEaeT & qrg et Horg |

General Instructions :

(V)

(it)

(i11)

(iv)

(v)
(vi)

Answer all the questions. Some questions have internal choice. Marks are
indicated against each question.

Answer to questions no. 1 to 3 carrying 2 marks should not exceed 30 words
each.

Answer to questions no. 4 to 9 carrying 4 marks should not exceed 100 words
each.

Answer to questions no. 10 to 12 carrying 8 marks should not exceed 350 words
each.

Questions no. 13 to 15 are source based questions.

Question no. 16 is a Map question that includes identification and location of
significant test items. Attach the map with the answer-book.

©ug h
PART A
(3t rg-Swda wed)
(Very Short Answer Type Questions) 2x3=6

TEIYRA It o SR 991 ST T UTeid hid o fTT S0 gil TUATS T8
foregl Q1 Tt s samen it | 2

Explain any two strategies evolved by the Brahmins to enforce Varna

order during the Mahabharata period.



3TheR % HTHTSA H TG ol shl YfHehT 1 fowersor Hhifu | 2
Analyse the role of Abul Fazl in the empire of Akbar.
e fem wH @ fohegl gt afomdi 1 Seorg HIfT | 2
HAYAT
1946 T T IR @I < gl al IRUMHT o1 Ioei@ I | 2
State any two outcomes of the Cabinet Mission Plan.
OR
State any two outcomes of the Provincial elections held in 1946.
w|is g
PART B
(erg-3wdT ued)
(Short Answer Type Questions) 4x6=24
SIS GTfHeh el & QAT H YUaiagl gl ATHAT sl T8 Ut 1
forgetwor hifsw | 4

Analyse the problems being faced by the archaeologists to reconstruct the
religious practices of Harappans.

IS I A | U TET & IE o a1 A & TR 29 1 FREIR 379 g
H R o foram o ? HRON ! TS KT | HeAhT hl A% HE o (1T b
ENI 331U U fohedl 21 sheH! ol Jeoi@ hifVT | 242=4
Explain the reasons why the British took upon themselves the task of

town planning from the early years of their rule in Bengal. Mention any
two steps taken by them to clean Calcutta.

I FER UTTert & T | 361 9qa & foaXr 1 9o hivg | 4
AT
T | SIfd Iaee & ded # o1a-foet o foawor s aui Hhifs | 4
Describe Ibn Battuta’s description of Indian system of communication.
OR

Describe Al-Biruni’s description of the caste system in India.

“T gETsE L TEE - TSR 4 Sa-Ede glosetaa ot 17 39 %
IeTEw Hied gfee HIRT | 4
“Water resources were well developed in an Imperial Capital —
Vijayanagara.” Support the statement with examples.
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10.

11.

“et, Tifeed IR foAl 3 1857 1 wfa =1 Shfed T o JrteE foon 2 17 e
S qRAT Tegarg o Ty H =TT S8UST |
3T

“sray 4, 1857 1 fagie e faesft s & faams dw-ufaQy & sifieafe
9 TR AT |7 e I ATecteharl AR fhaHI & dey § < 3gUsy |

“Art, literature and imageries have helped in keeping alive the memory
of 1857.” Justify the statement in the context of Indian nationalism.

OR
“In Awadh, the Revolt of 1857 became an expression of popular resistance
to an alien order.” Justify the statement in the context of taluqdars and
peasants.

g Bl G <Arefl varedt 3.9, % AEd G99 WRRATC SHIE Y ST ? SRSl
HIT |

Explain how Magadha became the most powerful Janapada between the
sixth and fourth centuries BCE.
Q|us 1

PART C
(Srd-swd a9 )

(Long Answer Questions) 8x3=24

“STHEAN MG 4 Th ARG HEATE b T8 hl G hL A oA S
Jufafees wRa # foepa € s1vaud ot |” 39 ed o favemor Hifvu |

areraT
1927 — 1931 < S YRd § Tiefish <h wfafafert s fagewo Hifse |

“Non-Cooperation Movement unleashed a surge of popular action that

was altogether unprecedented in colonial India.” Analyse the statement.
OR

Analyse Gandhiji’s activities in India during 1927 — 1931.

IR N TR & TST 3N AT o A1 G4} T qUH HINTT | $6h A1 &

AR FAT FIART T AT SFGEAT oh i STER-fa=r 1 off 9o HT |

HAAT

gl IATed! o d1¢ ¥ A § FHHT o e &1 aui i |

Describe the relationship between the Alvars and Nayanars with the
state and society. Also, describe the attitude of Alvars and Nayanars
towards caste system.

OR
Describe the growth of Sufism in India from the eleventh century onwards.



12.  “SEqUUlt deieEd o 91, YRE o axehl H SHIGR ToiEd shi [T ol 37T i |
U TIFA © |7 39 HI9 & Fed H hron hl A= foear 7 hifsu |

YT

TSHEA <hl TBTISAT o TBTS! AN <hl Siiferehl o @idi <hl 9@ shifore | Herrelt o
A W I8 TopE T gfafsean <t 2

“In the early decades after the Permanent Settlement, the zamindars
regularly failed to pay the revenue demand.” In the light of this
statement, examine its causes in detail.

OR

4+4=8

Examine the sources of livelihood of the Paharias (hillfolk) of Rajmahal
hills. How did they respond to the coming of Santhals ?

LG LcRol
PART D
(Era e ae)

(Source Based Questions)

7x3=21

13. frAfafaa sgror ot samgdes ufer ok 3ush e fou o yeai & 3w fafeu -

g

® 3

(13.
(13.2) <aforaTTd T & TSI UGS (TEe) i 8l SGelT ST Hehdl & ?
(13.

HAER | dig oo

fier & fau T 39 3G # gg e W & s iR Teuld i w9 ¢

qfAes sl 3194 ARl 3N =il hl o9 WE o @A HE!
ATMRY... ITh! GHAT % HTER I8 M ohl, I oW H TGl
SRt SR 9S4 W Ih! qNERT ik, 3Tk HIY GEATG WISH Sieh
3R THI-FHT W 3% Qe ol

FA & Mt w UG wE @ g7 (N=RH amEies Stad &1 wm
fear ) 3t wemn i @I HET SR, HH, o9 I T I
ST GRI, 3k TNTA H BHIM WX Gl T@RL IR 3Teh! TeA-Sfdfe <l
ST <l gfd i |

T 1 gra-fuan, et et ueft & o1y sveEr & fow ot T &
3uey few 7w 2 |

1) §g 7 AR 3R AT Fl T8 TR HE a1 8 ?

3) T 1 smut % fore g g § 8 wetg 1 vt Hifvw |

5
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Read the following extract carefully and answer the questions that
follow :
Buddhism in practice

This is an excerpt from the Sutta Pitaka, and contains the advice given
by the Buddha to a wealthy householder named Sigala :

In five ways should a master look after his servants and
employees ... by assigning them work according to their
strength, by supplying them with food and wages, by tending
them in sickness; by sharing delicacies with them and by
granting leave at times ...

In five ways should the clansmen look after the needs of
samanas (those who have renounced the world) and
Brahmanas: by affection in act and speech and mind, by
keeping open house to them and supplying their worldly
needs.

There are similar instructions to Sigala about how to behave
with his parents, teacher and wife.

(13.1) How did Buddha give importance to conduct and values ?
(13.2) How can individual effort transform social relations ?
(13.3) Analyse the advice given by Buddha to Sigala for Samanas.

14. FrafaRed sgror = eamyEs afer ot 3ges = fou o gt & 3w fafe -
he T S ?
75T W Ig Th 3N e B
sHfler-ar o Jehg W <l 3Ted A B dfesh B off T %
foTT IR 1@ | 918 91 aTeAT iiehl s g § 10 H T 1 Tehdl 8 |
IEAl, HUPHa: TGl I H FT 1 AAGS 7, IS, X P, JAS
... 3T I W &I, A HHA ol T - JeAal H i1 aMfey
— 3BT, HeAH 3N 9q, HR 36 & b gL HT HMMEY | ITHE
e 9 foran Sl &1 e ) vt &9 @ 98 FdiS ear 2 |
qE, s S wrsricl? Wt %ed @ (W), ®HA I L THT R Ad
7, IR T @it uati 1 HiN[gt W 9 TS § Seaiy id 8 | Tfehd
3o %3 TEeeR e 1 FEE Tedt B; o gre-gfg o weeR
grgarsht i ord W@d 2 | i, @7-727F J9 9 i 94 & 90g @d
Sl dd 8 | Y, o777 F73, BHA hied o S8, I IHHT &L 51 od &
3 T 3/ o9 T §T¢ oid 8, 3R gleh (98T) 191 f&en =’ & S
7 3R 39| AT AT 3 |




(14.1) ‘urpd:’ 31eg sl T@ HINT |
(14.2) ‘CA-9E 1 TIED TESAT i hl YUl o € H ST HIfT |

(14.3) AR <1 fHehT shi W@ HINT |

Read the following extract carefully and answer the questions that
follow :

Cash or kind ?

The Ain on land revenue collection :

Let him (the amil-guzar) not make it a practice of taking only
in cash but also in kind. The latter is affected in several ways.
First, kankut: in the Hindi language kan signifies grain, and
kut, estimates ... If any doubts arise, the crops should be cut
and estimated in three lots, the good, the middling, and the
inferior, and the hesitation removed. Often, too, the land taken
by appraisement, gives a sufficiently accurate return. Secondly,
batai, also called bhaoli, the crops are reaped and stacked and
divided by agreement in the presence of the parties. But in this
case several intelligent inspectors are required; otherwise, the
evil-minded and false are given to deception. Thirdly,
khet-batai, when they divide the fields after they are sown.
Fourthly, lang batai, after cutting the grain, they form it in
heaps and divide it among themselves, and each takes his share
home and turns it to profit.

(14.1) Examine the term ‘kankut’.
(14.2) Explain ‘khet-batai’ as the system of collecting revenue.
(14.3) Examine the role of Amil-Guzar.

15. frafaRed sgmor =t eamyEs ufer ot 3ok = fow o wei & 3 fafaw

“gfea et & foru &g g T

Mfag Jead 9 o el fh Fse@™ Arie o7+ & T @i Sl 998 3R gg
! o= @ R G e Bie 2

TAIhad h! THAAT o (1T SATE I STCHIIEA sl hell T TRIET
ST BT | ATehdd H stk ol 94 fw &\ qun iU & fow samer
sh T =R | ¥@f wied fiser & fow #E S &l 2 | 9
s et U9 W Hfga B =nfew | Ife ford dArehaw A eI
gfceaeff fsaTd T@ gd & a1 UHt saeen @l X <d & H hig A
I R I A WG AMH hl I JE A I f&ai
ST oft warg &l AT, at U ek 1 geT fHfved 7 |
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(15.1) T3T@M 1T & Y@ T 1 & ? 2

(15.2) AThdd hl %Al o TAT ANTRERT hl AT KT ATRY 2 2

(15.3) Ife amrieent <t faserd &t B, O Ts¥ 3T¥aT Alehds 1 T 81 8 2 3
AT

FTiad 30T ! SIHYde dfeU i 3Heh = U TT wwAi o I fAfen :

“TT AT ¢ Toh gores TAaiforent steuaeaei & fotu srrered |nfera gri”

27 T, 1947 bl TiAU™ U1 <hl 5789 § Mide dey Id o hal o :

H AT 2 TR gue Matfaen sioqaeaehi o faw srewerdt |nfea grft
HR 3¢ 9gd Wil THEM TEa@l | R I8 G o TIQ STerT-oem o
e o @ 9 wft oft g w1 IgEETH § wQHT 8w aE | R
T WG IE H 5 T 41 ¢ | 379 R 978d 7 3R FAN 37 T
T ] 2 FIT YL U ScITTIh] o & § &l &1 918d & a1 9 o
T e T HEM TS 1 AN 31§94 iR 3Igeht Tafa o fFaffa 3
fafa %@ &1 T Ed 2 2 30 foem 2 76 o7R 3% A9 THeE | 3Te
TGN AT ® 3 UH garee HA H B W AT & &l 3= &l
o oft i W AR @ 9 @ 98 S N waHe ®9 8 gadTs
BT ... | PR cuuEysHh gush Halfawmrsti ¥ Sfaet amd & @ et
wuTelt ATEE & < qTen |
(15.1) S Aarsti 4 UHT Fi 9= foh Teqseahi o fau gorsg Faffae g
1T ? 2
(15.2) F® UsgaTel Yok faitaeh sl /i < fatig & == o 2 2

o~

(15.3) TNfeg doai¥ qd YUk HAT=rehl ohl HeudEahl & [og BIHheh @i
LIERIEN 3

Read the following extract carefully and answer the questions that
follow :

“There cannot be any divided loyalty”

Govind Ballabh Pant argued that in order to become loyal citizens people
had to stop focusing only on the community and the self :



(15.1)
(15.2)
(15.3)

For the success of democracy one must train himself in the art
of self-discipline. In democracies one should care less for
himself and more for others. There cannot be any divided
loyalty. All loyalties must exclusively be centred round the
State. If in a democracy, you create rival loyalties, or you create
a system in which any individual or group, instead of
suppressing his extravagance, cares nought for larger or other
interests, then democracy is doomed.

What are the major attributes of a loyal citizen ?

What should the citizens do for the success of democracy ?

What will happen to the State or democracy if the citizens have

divided loyalties ?
OR

Read the following extract carefully and answer the questions that
follow :

“I believe separate electorates will be suicidal to the minorities”

During the debate on 27 August, 1947, Govind Ballabh Pant said :

(15.1)
(15.2)

(15.3)

I believe separate electorates will be suicidal to the minorities
and will do them tremendous harm. If they are isolated for
ever, they can never convert themselves into a majority and the
feeling of frustration will cripple them even from the very
beginning. What is it that you desire and what is our ultimate
objective ? Do the minorities always want to remain as
minorities or do they ever expect to form an integral part of a
great nation and as such to guide and control its destinies ? If
they do, can they ever achieve that aspiration and that ideal if
they are isolated from the rest of the community ? I think it
would be extremely dangerous for them if they were segregated
from the rest of the community and kept aloof in an air-tight
compartment where they would have to rely on others even for
the air they breathe ... The minorities if they are returned by
separate electorates can never have any effective voice.

Why did some leaders think that there should be separate

electorates for minorities ?

Why were some nationalists against the demand of separate

electorates ?

Why did Govind Ballabh Pant consider separate electorates

harmful for the minorities ?
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G L
PART E
( wTfers 99 / Map Question) 243=5
16. (16.1) ¥WRa & fgu MU ToHifosw W@-wmRE (98 11 W), ® f=fafea =i
3T @l @ gErisy oK 3k 1 fafew 1x2=2
(%) Hetshdl — 1857 & TGz 1 T &g |

3T
@ — 1857 ¥ fafewr & 17 wh T |
(@) T — T 0TS & e & |
e
IEEREN

(16.2) WRa & feu U sEHft uoHifds W@r-AWRE d, 19 & el o
et o9 T 1 A, B 3T C ¥ 3iferd foham 1 8 | 378 U8y
3T 37 TE AW 3eh 918 Tt T3 W@rsli | ffan | 1x3=3
(16.1) On the given political outline map of India (on page 11), locate

and label the following appropriately :
(a) Calcutta — a Centre of Revolt, 1857.
OR
Surat — a place under British control in 1857.
(b) Panipat — Territory under Mughal Empire.
OR

Vijayanagara
(16.2) On the same political outline map of India, three places have
been marked as A, B and C, which are related to Ashokan
inscriptions. Identify them and write their correct names on the
lines drawn near them.

Fig:  HEfTRaT Ie FacT gRETAT qienteel & (7 ¥, d. 16 & €4 WE

Note: The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 16 :

(16.1) T A= & AefT foreht wsh &= o1 7w farfu |
(16.2) 1857 % g8 & Tohsll Teh hrg I Ioai@ HIT, |
(16.3) 3T o RTATIE! ¥ Fafod fopeal i LM & 9™ faiay | 1+1+3=5
AYAT
fehral O Sig Tl o a1 fafay | 1x3=3
(16.1) Name any one territory under the Mughal Empire.
(16.2) Mention any one Centre of Revolt of 1857.
(16.3) Name any three places related to Ashokan inscriptions.
OR
Name any three Buddhist sites.
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WA T WT-AHRE (A1)
Outline Map of India (Political)
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